
 

Sub:Maths                 Class -4  

                                    Topic-Word problems in addition.  

  

Q.1  Solve the following word problems:  

a) A number exceeds 8,76,543 by 12,345.Find the number.  

b)The cost of a motorcycle is Rs.42,850 and the cost of a scooter is Rs.28,350. What is the 

total cost of both the vehicles?  

c)A factory manufactured ,72,584 locks in the year 2016 and 37,846 locks in the year 

2017.How many locks did the factory manufacture in the two years?  

  

  

  

  

  

  

  

  

  

  

  

  

  

  


